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2.4 What Are Atoms Made Of? — The Three Subatomic Particles

Name Symbol Mass (9) Charge Ma@(amt@
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f) 4 profons ... the odom determina¥or .. #p = Aromic Nunger (Z)
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A
ZX X = smbd
A = Mass Nunler
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2.4

2.4

What Are Atoms Made Of? — The Three Subatomic Particles

Example_1

Which if any of the following species has the same number of Neutrons
as it does Electrons?

FEERE 2052 (@) “p,Cr b) 2¢Mg* c) %5,Co*
o' v = lrd\ 35CI e) 125..Sn
- # Protons # Neutrons # Electrons
o Cr 24 A3 24
P ., 2
Mg 12 12 10
59 2
171G A1 31 95
35 ~-
W 17 18 8/
S
'éoSn 50 I5 50
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2.4

What Are Atoms Made Of? - /sofopes
Tsolope : (fems with the sare nunfler of prstons Bl different Nunfer o? nedRans
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2.4 What Are Atoms Made Of? — Atomic Weight

2.4 Example_2
Chlorine has two naturally occurring isotopes:
35Cl, 75.77% Abundant, Exact Mass 34.96885 amu
37Cl, 24.23% Abundant, Exact Mass 36.96590 amu

What is the Atomic Weight of Chlorine?

Gtomic k\eig\\\' . SIH f"?‘/ the Mds\\\'zc\ Q\eRage o? e Ndumﬁw occuRR'wg 153} opes

0.75T1 (34.96885) + 0.2433 3%6.9650)
= 35.45Y7) com
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2.4 What Are Atoms Made Of? — Atomic Weight

2.4 Example_3
Neon has 3 naturally occurring isotopes:
20Ne, 90.92% Abundant, Exact Mass 19.9989 amu
21Ne, 0.26% Abundant, Exact Mass 20.9975 amu
22Ne, 8.82% Abundant, Exact Mass 21.9979 amu

What is the Atomic Weight of Neon?

o

o . |
'-'ulnlmlb : -
.- i

The 4th decimal place in the answer is
a) 5 b) 6 c)7 (d)8 e) 9

5
g
o

s 4

0.9092 (19.9989) + 0.0026 (204715)+ ©.0%82 (21 991) = 20.\T13 amas
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